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1. Given that y=x*+x* +3, find %

(&)

(Total 3 marks)
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d 1
ay=5x2+x\/x, x>0

Given that y = 35 at x = 4, find y in terms of x, giving each term in its simplest form.

)
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6.

The curve C has equation

ye (x+3)(x—8) ’
X

x>0

(a) Find % in its simplest form.

(b) Find an equation of the tangent to C at the point where x = 2

C))

C))
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Figure 2

The curve C has equation y = x* —5x+4 . It cuts the x-axis at the points L and M as shown
in Figure 2.

(a) Find the coordinates of the point L and the point M.

(2)
(b) Show that the point N (5, 4) lies on C.

1)
(c) Find J(xz —5x+4)dx.

(2)
The finite region R is bounded by LN, LM and the curve C as shown in Figure 2.
(d) Use your answer to part (c) to find the exact value of the area of R.
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N
Leave

blank
9. The curve C has equation y=12V(x) — -10, x>0

(a) Use calculus to find the coordinates of the turning point on C.

Q)

d’y

(b) Find o

(2)
(c) State the nature of the turning point.
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